3.4 Notes

4 8.4 BEAYOND GVYEeTEG

Add 2 new definitions and a postulate to solve proofs beyond CPCTC
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Every triangle has 3 M‘ﬂ&mﬂ 6 . Every triangle has 5 AH‘LM&(\CS .
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How will | use these i proofs?

N
EX. 1 Given: ﬁ is a median R, EX. 2 Given: ﬁf is an altitude L
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You can conclude B!A/ -L PL
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EX. 3 Given: CD=AD C\PO-TZ/ 'D
ZADB = /CDB ¢
Conclusion: DB is the median to AC A m c
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EX. 4 Given: G is the midpoint of FFH .
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Prove: Ll= /2
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EX. 5 Given: LT =/Y
/8VZ = 2SXZ
V=YX

Prove: SZ is the median of TY
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EX. 6 Given: Fis the midpoint of EG
00
Prove: XOFF = XOGF

EX.7

Given: CD and BE arealtitudes of AABC; AD = AE .
Prove: DB=EC
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